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Example 2: Solve the equation for x.

Jun ( arctan(2x—5bi?ﬂ c)r
2-)( _..‘g = —\-df'\ (" \F) j
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Example 3: Write the expression in algebraic form. (HINT: Sketch a right
triangle)

a. sec(arctan4x)

Lok & = ac doo X
Hin B = 4%
|

So. ..
o
Sec & =

Sec O m

b. cos(arcsin x)
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Example 4: Differentiate with respect to x.

a.9(y)=farcsin X)

W= ¥

W d. y=arccscx

e. y=arcsecx
L’f‘,’“' /&

c. y=arctan x f. y=arccotx
j— | ‘*ru [
It AN

What have we found out?!

DERIVATIVES OF INVERSE TRIGONOMETRIC FUNCTIONS

Let U be a differentiable function of X.

’

u

4. i[arccotu] =-—

1 i[arcsm ul=

,/ 1+u’
2 —[arccosu]—— w 5 i[afcsec’f‘]= a
©odx - 1—22 Codx |u|\/u2—1

’ ’

i[alrccscu]=— u
1+u’ 6. dx |u| u> -1

3. i[arctanu] =
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Example 5: Find the derivative of the function. Simplify your result to a
single ration expression with positive exponents.

a_;)f(t)?éxcsinf) E: t?
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Example 6: Find an equation of the tangent line to the graph of the function

\/5375

1
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